Pull of x for PV

Ratio

Pull of y for PV

Ratio

Pull of z for PV

Ratio

1.8

N
T
Pull of x
; =
0 N
T
R CEARARE

s I | A e
H H H H H H H 1.6

e
{#ﬁ%

R P
I NY))
T
aierecg
=T

Pull of x for merged vertices

Wn'....!....!.

Ratio

-

" NI |

%015 10 5 0 5 10 15 20 B0 1510 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

=

Pull ot y

o

T
i

1.8

11 EEE FEEEE FEET [Tl FEEE FEETE SR TE FRwe
1.4 2 . . 5 F . .

L . . ¥

HEEdNE

[%] . .

o)) L . .

o L H H

& .. f P

. > et EEREE: ]

b : : [ : : : : : : : k] L : : :

(L T I S S S S A I N S 1 P

v | R A S T T S el RIS ¢
b \ . . . . . . . h H .

N Eo S (AN SN S 5 [ o

HIE oo SR oA B B SO F iy

L E e N B LA b bk

L : : : | SRR hEREES REEREE AR AREERE AREE X1 EEEE E L : : *

12peeebeeee 4 SN S A O R A s

Eor e e S S S SR A M I

| TR E : : : : : : : e : e

o b |

1]

s b B G i || pREEERECERE b ol B o
d d X : : 4| ):

5 10 15 20 B =15 -10 50 5 10 15 20 B =15 =10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

o
[e2) =Y
T
.
Ratio
L e
—.#.—
XEthy
S, —

2 N 2 0w 2
L + — - ) L
s I B S e S
oo : : : : : : S 1.8 PEREEE: SERRLE: 5
) PR SRS SN AN £ 51 I N1 O I a R S >
N N o
| . . . . . . L I~ I (3]
N I 2
- E
Ay e E N
LAt T S
N I 1P I | I 5
oo : L gl : o
RV i A N At (8 Mk M
| U r
R P I P P T TS P T
R 0 2 T S T IHILT T
o TR | TR TE ¢ 4 : et oo
11E : = o SRR G| RERRECRERRERE & 52K H 1 )
A b E T : SR ] P
0561510 10 15 20 0%57=15 -10 520 0956 =15 =10 -5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


